Ratio to ATLAS

[EEY

0.5

7000 GeV pp Soft QCD
:l I I I | I I I | I I I |:
u Sum ET (0.0 < h| < 0.8, p" ™" > 0.5(0.2) GeV) _
— i\ |
- "\! =
- -
B oy n
- S S L
— *\\:\\"i_, 3
— B ATLAS Ty e ]
~ --©o-- Pythia 6.428 390 T g -
[ - 8- Pythia 6.428 391 TR TS 7
— --¢-- Pythia 6.428 392 ‘\?‘;5.1\ —
~ --~-- Pythia 6.428 396 . 3
~  --%-- Pythia 6.428 397 “~f';\:~;1 N
_ --¥-- Pythia 6.428 398 _|
:l | | | | | | | | | | | |:
:l T T T | T T T | T T T |:
| x-x _
. X o TRy ¢ PR, sl — il

¢ Q" - -..__._é j

— \\\ ems====" *::== ______ * —

X ¥ |

i ¥ *- |
| 1 1 1 | 1 1 1 | 1 1 1 |

0 20 40 60

sum E_ [GeV]

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


